Equazioni Goniometriche:

Equazioni elementari (r<cz)

1° tipo: sen x =a

Vs

x=—+2krx

J senx:\/z/2 > archi ass.: sen x = sen (7 —x) > 4
V4 3

X=r—-—+2kr=—r+2kr
4 4

X = arcsen é + 2k A
o senx=3/4
X =T —arcsen Z + 2k

e sen x =4/3 impossibile perché —1 < sen x <1

e (Caso particolare: sen x=1 2 x= % +2krx

v

cfr. archi ass.: sen x = sen (7z - x)

2°1ipo: cos x =b

»
|

e cosx=1/2 > <x:i%+2k7z

e cosx=3/4 <x = iarccos% +2kr

e cos x =4/3 impossibile perché —1< cos x <1
e (Caso particolare: cos x=1 2 x=2knx

cfr. archi ass.: cos x = cos (—x)

3°tipo: tg x=c¢
J tgx=\/§/3 > x=%+k7z

e (gx=5/6 9xzarctg%+k7z
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